FLORIDA ELECTIONS COMMISSION

** PUBLIC AGENDA RESULTS** May 17-18, 2022

	Wiay 17-10, 2022	Vote
Roll Call	Nicholas Primrose, Chairman Joni Alexis Poitier, Vice Chairman Jason Todd Allen Kymberlee Curry-Smith Marva Preston	
	Ed Tellechea, Commission's Counsel	
Approval of February 8- 9, 2022 Meeting Minutes	Approved	5-0
	AUTOMATIC FINE APPEALS	
Case Name & No.		Vote
Republican Party of Miami-Dade County FEC 21-480	Motion to find no unusual circumstances. Fine reduced to \$2,000.	5-0
Howland Russell FEC 21-514	Motion to approve Todd Smith-Schoenwalder as a qualified representative. Motion to find unusual circumstances. Fine waived.	5-0 5-0
Floridians for Economic Advancement FEC 22-001	Motion to continue.	5-0
Physicians for Emergency Care FEC 22-002	Motion to find no unusual circumstances. Fine upheld.	5-0
Emergency Care for Florida FEC 22-003	Motion to find no unusual circumstances. Fine upheld.	5-0
Daryl Campbell FEC 22-024	Motion to find no unusual circumstances. Fine upheld.	5-0
Florida Podiatry Political Committee FEC 22-025	Motion to find no unusual circumstances. Fine reduced to \$500.	5-0

AUTOMATIC FINE APPEALS

	AUTOMATIC FILE ATTEALS	
Case Name & No.		Vote
Committee to Revive Florida FEC 22-026	Motion to find unusual circumstances. Fine waived.	5-0
Jervonte "Tae" Edmonds FEC 22-028	Motion to find no unusual circumstances. Fine upheld.	5-0
Win America FEC 22-029	Motion to continue.	5-0
Win America FEC 22-030	Motion to continue.	5-0
Win America FEC 22-031	Motion to continue.	5-0
Berc Sarafian FEC 22-032	Motion to find no unusual circumstances. Fine upheld.	5-0
Guarina Torres FEC 22-033	Motion to find no unusual circumstances. Fine upheld.	5-0
Palm Beach Patriots (PB Patriots) FEC 22-034	Motion to find no unusual circumstances. Fine upheld.	5-0
Fabian Bsabe FEC 22-038	Motion to find no unusual circumstances. Fine upheld.	5-0
PE	FITION FOR ATTORNEY'S FEES AND COSTS	
Case Name & No.		Vote
Wayne Ivey FEC 20-595	Motion to adopt Administrative Law Judge's findings of fact and conclusions of law and enter a Final Order denying the Petition for Attorney's Fees and Costs.	5-0
	INFORMAL HEARINGS	
Case Name & No.		Vote
Amy Kedron FEC 18-368	Motion to find a violation of 1 count of Section 106.19(1)(a) [Count 1], Florida Statutes, and to impose a \$100 dollar fine.	5-0
Denzel D. Burnside III FEC 19-487	Motion to find a violation of 1 count of Sections 106.07(2)(b)1. [Count 1]; 106.07(5) [Count 2]; and 106.09(1)(b) [Count 3], Florida Statutes, and to impose a \$100 fine per count for a total fine of \$300.	5-0

Case Name & No.		Vote
Sasha Tirador FEC 20-045	Motion to continue.	5-0
Roy Hardemon FEC 20-146	Motion to find a violation of 10 counts of Section 106.07(7) [Counts 1-10], Florida Statutes, and to impose a \$1,000 fine per count for a total fine of \$10,000.	5-0
Roy Hardemon FEC 21-057	Motion to find a violation of 4 counts of Section 106.07(7) [Counts 1-4], Florida Statutes, and to impose a \$1,000 fine per count for a total fine of \$4,000.	5-0
Benjamin Alexander Thaddeus John Horbowy FEC 20-147	Motion to find a violation of 2 counts of Section 106.07(7) [Counts 1-2], Florida Statutes, and to impose a \$200 fine per count for a total fine of \$400.	5-0
Benjamin Alexander Thaddeus John Horbowy FEC 21-006	Motion to find a violation of 1 count of Sections 106.141(1) [Count 1], and 106.19(1)(c) [Count 2], Florida Statutes, and to impose a \$25 fine per count for a total fine of \$50.	5-0
Curt Sheard FEC 20-212	Motion to find a violation of 1 count of Section 106.07(7) [Count 1], Florida Statutes, and to impose a \$100 dollar fine.	5-0
Elijah Manley FEC 20-262	Motion to find a violation of 1 count of Section 106.19(1)(c) [Count 1], Florida Statutes, and to impose a \$250 dollar fine.	5-0
Elijah Manley 20-393	Motion to find a violation of 1 count of Section 106.19(1)(c) [Count 1], Florida Statutes, and to impose a \$250 dollar fine.	5-0
Elijah Manley FEC 20-412	Motion to find a violation of 8 counts of Section 106.07(2)(b)1. [Counts 1-8], Florida Statutes, and to impose a \$250 fine per count for a total fine of \$2,000.	5-0
Elijah Manley 21-025	Motion to find a violation of 1 count of Sections 106.141(1) [Count 1] and 106.19(1)(c) [Count 2], Florida Statutes, and to impose a \$250 fine per count for a total fine of \$500.	5-0
Ryan Douglas Terrell FEC 20-328	Motion to find a violation of 2 counts of Section 106.07(2)(b)1. [Counts 1-2], Florida Statutes, and to impose a \$1,000 fine per count for a total fine of \$2,000.	5-0
Ryan Douglas Terrell FEC 21-026	Motion to find a violation of 1 count of Sections 106.141(1) [Count 1] and 106.19(1)(c) [Count 2], Florida Statutes, and to impose a \$1,000 fine per count for a total fine of \$2,000.	5-0

Case Name & No.		Vote
Drew-Montez Clark FEC 20-351	Motion to find a violation of 4 counts of Section 106.07(2)(b)1. [Counts 1-4], Florida Statutes, and to impose a \$100 fine per count for a total fine of \$400.	5-0
Residents for Quality of Life FEC 20-377	Motion to find a violation of 2 counts of Section 106.19(1)(c) [Counts 1-2], Florida Statutes, and to impose a \$1,000 fine per count for a total fine of \$2,000.	5-0
Residents for Quality of Life FEC 20-599	Motion to find a violation of 1 count of Section 106.07(7) [Count 1], Florida Statutes, and to impose a \$1,000 dollar fine.	5-0
Darien Hill FEC 20-392	Motion to find a violation of 6 counts of Section 106.07(7) [Counts 1-6], Florida Statutes, and to impose a \$1,000 fine per count for a total fine of \$6,000.	5-0
Darien Hill FEC 20-466	Motion to find a violation of 1 count of Section 106.07(7) [Count 1], Florida Statutes, and to impose a \$1,000 dollar fine.	5-0
Darien Hill FEC 20-526	Motion to find a violation of 4 counts of Section 106.07(7) [Counts 1-4], Florida Statutes, and to impose a \$1,000 fine per count for a total fine of \$4,000.	5-0
Darien Hill FEC 21-229	Motion to find a violation of 1 count of Section 106.07(7) [Count 1], Florida Statutes, and to impose a \$1,000 dollar fine.	5-0
Cynthia Dela Rosa FEC 20-413	Motion to find a violation of 4 counts of Section 106.07(2)(b)1. [Counts 1-4], Florida Statutes, and to impose a \$100 fine per count for a total fine of \$400.	5-0
Cynthia Dela Rosa FEC 20-648	Motion to find a violation of 1 count of Section 106.19(1)(c) [Count 1], Florida Statutes, and to impose a \$100 dollar fine.	5-0
Cynthia Dela Rosa FEC 20-654	Motion to find a violation of 2 counts of Section 106.07(2)(b)1. [Counts 1-2], Florida Statutes, and to impose a \$100 fine per count for a total fine of \$200.	5-0
Rodney Harris FEC 20-426	Motion to accept consent order as amended.	5-0
Richard Allen Rowe FEC 20-427	Motion to find a violation of 3 counts of Section 106.07(7) [Counts 1, 3 and 4], and 2 counts of Section 106.19(1)(c) [Counts 2 and 5], Florida Statutes, and to impose a \$100 fine per count for a total fine of \$500.	5-0

Case Name & No.		Vote
Richard Allen Rowe FEC 21-011	Motion to find a violation of 1 count of Sections 106.141(1) [Count 1] and 106.19(1)(c) [Count 2], Florida Statutes, and to impose a \$100 fine per count for a total fine of \$200.	5-0
Kyle Gibson FEC 20-432	Motion to find a violation of 2 counts of Section 106.19(1)(c) [Counts 1-2], Florida Statutes, and to impose a \$250 fine per count for a total fine of \$500.	5-0
Coffee for Tampa PC FEC 20-519	Motion to find a violation of 5 counts of Section 106.07(7) [Counts 1-5], Florida Statutes, and to impose a \$25 fine per count for a total fine of \$125.	5-0
Hubert A. Campbell FEC 20-611	Motion to continue.	5-0
Keon Antonio Grayson FEC 20-613	Motion to find a violation of 1 count of Section 106.07(7) [Count 1], Florida Statutes, and to impose a \$100 dollar fine.	5-0
Anita Huffman FEC 20-614	Motion to find a violation of 1 count of Section 106.141(1) [Count 1] and 106.19(1)(c) [Count 2], Florida Statutes, and to impose a \$100 fine per count for a total fine of \$200.	5-0
Javier Estevez FEC 21-004	Motion to find a violation of 1 count of Section 106.141(1) [Count 1] and 106.19(1)(c) [Count 2], Florida Statutes, and to impose a \$500 fine per count for a total fine of \$1,000.	5-0
Anika Omphroy FEC 21-010	Motion to find a violation of 1 count of Section 106.141(1) [Count 1] and 106.19(1)(c) [Count 2], Florida Statutes, and to impose a \$1,000 fine per count for a total fine of \$2,000.	5-0
Florida Public Safety Association FEC 21-067	Motion to find a violation of 1 count of Section 106.07(7) [Count 1], Florida Statutes, and to impose a \$1,000 dollar fine.	5-0
Florida Public Safety Association FEC 21-184	Motion to find a violation of 1 count of Section 106.07(7) [Count 1], Florida Statutes, and to impose a \$1,000 dollar fine.	5-0
Florida Public Safety Association FEC 21-233	Motion to find a violation of 21 counts of Section 106.07(7) [Counts 1-21], Florida Statutes, and to impose a \$1,000 fine per count for a total fine of \$21,000.	5-0
Florida Public Safety Association FEC 21-291	Motion to find a violation of 1 count of Section 106.07(7) [Count 1], Florida Statutes, and to impose a \$1,000 dollar fine.	5-0

Case Name & No.		Vote
Florida Public Safety Association FEC 21-327	Motion to find a violation of 1 count of Section 106.07(7) [Count 1], Florida Statutes, and to impose a \$1,000 dollar fine.	5-0
Florida Taxpayers Association FEC 21-068	Motion to find a violation of 1 count of Section 106.07(7) [Count 1], Florida Statutes, and to impose a \$1,000 dollar fine.	5-0
Florida Taxpayers Association FEC 21-328	Motion to find a violation of 1 count of Section 106.07(7) [Count 1], Florida Statutes, and to impose a \$1,000 dollar fine.	5-0
Allied Democrats of the Beaches PC FEC 21-083	Motion to find a violation of 7 counts of Section 106.07(7) [Counts 1-7], Florida Statutes, and to impose a \$100 fine per count for a total fine of \$700.	5-0
Preserving Florida's Future FEC 21-094	Motion to find a violation of 1 count of Section 106.07(7) [Count 1], Florida Statutes, and to impose a \$250 dollar fine.	5-0
Preserving Florida's Future FEC 21-330	Motion to find a violation of 1 count of Section 106.07(7) [Count 1], Florida Statutes, and to impose a \$250 dollar fine.	5-0
Al Jacquet FEC 21-143	Motion to find a violation of 2 counts of Section 106.141(9) [Count 1-2]; and 1 count of Section 106.141(5) [Count 3], Florida Statutes, and to impose a \$1,000 fine per count for a total fine of \$3,000.	5-0
Every Vote Counts FEC 21-151	Motion to find a violation of 16 counts of Section 106.07(7) [Counts 1-16], Florida Statutes, and to impose a \$100 fine per count for a total fine of \$1,600.	5-0
Save Our State FEC 21-199	Motion to find a violation of 1 count of Section 106.19(1)(c) [Count 1], Florida Statutes, and to impose a \$100 dollar fine.	5-0
Save Our State FEC 21-293	Motion to find a violation of 1 count of Section 106.07(7) [Count 1], Florida Statutes, and to impose a \$100 dollar fine.	5-0
Save Our State FEC 21-331	Motion to find a violation of 1 count of Section 106.07(7) [Count 1], Florida Statutes, and to impose a \$100 dollar fine.	5-0
Save Our State FEC 21-380	Motion to find a violation of 2 counts of Section 106.07(7) [Counts 1-2], Florida Statutes, and to impose a \$100 fine per count for a total fine of \$200.	5-0
Save Our State FEC 21-416	Motion to find a violation of 1 count of Section 106.07(7) [Count 1], Florida Statutes, and to impose a \$100 dollar fine.	5-0

	Vote
Motion to find a violation of 1 count of Section 106.07(7) [Count 1], Florida Statutes, and to impose a \$100 dollar fine.	5-0
Motion to find a violation of 1 count of Section 106.07(2)(b)1. [Count 1], Florida Statutes, and to impose a \$100 dollar fine.	5-0
Motion to find a violation of 1 count of Sections 106.141(1) [Count 1]; and 106.19(1)(c) [Count 2], Florida Statutes, and to impose a \$500 fine per count for a total fine of \$1,000.	5-0
Motion to find a violation of 1 count of Sections 106.141(1) [Count 1]; and 106.19(1)(c) [Count 2], Florida Statutes, and to impose a \$500 fine per count for a total fine of \$1,000.	5-0
Motion to continue.	5-0
Motion to find a violation of 1 count of Section 106.07(2)(b)1. [Count 1], Florida Statutes, and to impose a \$100 dollar fine.	5-0
Motion to find no violation of 1 count of Section 106.07(2)(b)1. [Count 1], Florida Statutes.	5-0
OST-PROBABLE CAUSE CONSENT ORDERS	
	Vote
Motion to accept consent order.	5-0
RE-PROBABLE CAUSE CONSENT ORDERS	
	Vote
Motion to accept consent order.	5-0
Motion to accept consent order.	5-0
Motion to accept consent order.	5-0
	Florida Statutes, and to impose a \$100 dollar fine. Motion to find a violation of 1 count of Section 106.07(2)(b)1. [Count 1], Florida Statutes, and to impose a \$100 dollar fine. Motion to find a violation of 1 count of Sections 106.141(1) [Count 1]; and 106.19(1)(c) [Count 2], Florida Statutes, and to impose a \$500 fine per count for a total fine of \$1,000. Motion to find a violation of 1 count of Sections 106.141(1) [Count 1]; and 106.19(1)(c) [Count 2], Florida Statutes, and to impose a \$500 fine per count for a total fine of \$1,000. Motion to continue. Motion to continue. Motion to find a violation of 1 count of Section 106.07(2)(b)1. [Count 1], Florida Statutes, and to impose a \$100 dollar fine. Motion to find no violation of 1 count of Section 106.07(2)(b)1. [Count 1], Florida Statutes. DST-PROBABLE CAUSE CONSENT ORDERS Motion to accept consent order. RE-PROBABLE CAUSE CONSENT ORDERS Motion to accept consent order.

PRE-PROBABLE CAUSE CONSENT ORDERS

		.	
Case Name & No.		Vote	
Tracey Cole FEC 20-270	Motion to accept consent order.	5-0	
Michael A. Goodfellow FEC 20-271	Motion to accept consent order.	5-0	
Trevor Mallory FEC 20-609	Motion to accept consent order.	5-0	
Iliana Ramos Jones FEC 21-075	Motion to accept consent order.	5-0	
Matthew Tisdol FEC 21-205	Motion to accept consent order.	5-0	
Juan Fernandez-Barquin FEC 21-305	Motion to accept consent order.	5-0	
Michele K. Rayner FEC 21-307	Motion to accept consent order.	5-0	
Callie Fines FEC 21-420	Motion to accept consent order.	5-0	
Russell Juergens FEC 21-428	Motion to accept consent order.	5-0	
Janelle Renee Khargie FEC 21-444	Motion to accept consent order.	5-0	
Daniel Villarruel FEC 21-449	Motion to accept consent order.	5-0	
Jeffrey Blank FEC 21-473	Motion to accept consent order.	5-0	
	OTHER MOTIONS		
Case Name & No.		Vote	
Committee for a Better Riviera Beach FEC 21-335	Motion to dismiss granted.	5-0	

PROBABLE CAUSE DETERMINATIONS

Case Name & No.		Vote
Cindy S. Polo FEC 19-401	Motion to find no probable cause on violating Sections 106.07(2)(b)1. and 106.07(5), Florida Statutes.	5-0
Confidential Case # 1	Results confidential.	n/a
Confidential Case # 2	Results confidential.	n/a
Confidential Case # 3	Results confidential.	n/a
Confidential Case # 4	Results confidential.	n/a
Confidential Case # 5	Results confidential.	n/a
Jeffrey Duane Porter FEC 19-196	Motion to find probable cause on violating Section 106.19(1)(c) [Count 1], and no probable cause on violating Sections 106.07(5) and 106.141(1), Florida Statutes.	5-0
Paula Prudente FEC 19-326	Motion to find probable cause on violating Section 106.09(1)(b) [Counts 1-2], Florida Statutes.	5-0
Confidential Case # 6	Results confidential.	n/a
Patrick Henry FEC 19-396	Motion to find probable cause on violating Sections 106.19(1)(d) [Count 1]; 106.07(5) [Count 2]; and 106.19(1)(c) [Count 3], and no probable cause on violating Section 106.19(1)(b), Florida Statutes.	5-0
Confidential Case # 7	Results confidential.	n/a
Laurel S. Bennett FEC 19-403	Motion to find probable cause on violating Sections 106.07(5) [Counts 1 and 5]; 106.19(1)(d) [Count 2]; 106.12(2)(b) [Count 3]; 106.12(3) [Count 4]; 106.19(1)(c) [Count 6]; and no probable cause on violating Section 106.19(1)(b), Florida Statutes.	5-0
Anika Tene Omphroy FEC 19-430	Motion to find probable cause on violating Sections 106.09(1)(b) [Count 1]; 106.19(1)(d) [Count 2]; and 106.07(5) [Count 3], Florida Statutes.	5-0
Kevin Reshad Monroe FEC 19-584	Motion to find probable cause on violating Sections 106.07(5) [Count 1]; 106.19(1)(b) [Count 2]; and 106.19(1)(c) [Count 3], and no probable cause on violating Section 106.19(1)(d), Florida Statutes.	5-0
Mayana Joseph FEC 19-587	Motion to find probable cause on violating Sections 106.07(2)(b)1. [Count 1] and 106.09(1)(b) [Counts 2 and 3], Florida Statutes.	5-0
Kimberly S. Jackson FEC 20-652	Motion to find no probable cause on violating Sections 106.07(7); 106.141(1); and 106.19(1)(c), Florida Statutes.	5-0

PROBABLE CAUSE DETERMINATIONS

Case Name & No.		Vote
Confidential Case # 8	Results confidential.	n/a
Christopher McAfee FEC 21-261	Motion to find probable cause on violating Section 106.07(7) [Counts 1-14], and no probable cause on violating Sections 106.141(1) and 106.19(1)(c), Florida Statutes.	5-0
EXECUTIVE DIRECTOR'S REPORT		
Delegation of Order Signature Authority to Executive Director	Motion to delegate authority to the Executive Director to sign orders on behalf of the Commission's Chair.	5-0